
ALGEBRA I QUIZ 1.4

1.
Evaluate -3xy2 for x = -3 and y = -4





            
(1 point)

2.
   Simplify:
3 – 12(6z – 5)





          

(1 point)
Simplify the expressions in questions 3-4.



3.
12 – 4 × 2 + 8 ÷ 2







            (1 point)


4.
5x – 4y – 11x – 2y







            (1 point)
Solve the equations in questions 5-6.


5.
18 – d  = 13 







        

(2 points)

6.
4a + 2 = 3a – 5 







            

(2 points)
Solve the absolute value equations in questions 7-11.  Be sure to check and box your answers.



7.
|3x – 4| = 5








     
(2 points)


8.
12|8 – y| = 36








     
(2 points)


9.
|5c – 1| – 3 = 16







     

(2 points)


10.
|x + 4| = 3x 









(2 points)

11.
 | y | + 1 = -4






    

     
(1 point)
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12.
Suppose a video store charges non-members $4 to rent each video.  A store membership costs $21 and members pay only $2.50 to rent each video.  For what number of videos is the cost the same?  (1.5 pts)
Solve the equations in questions 13&14 for the given variable.

13.
[image: image1.png]Bl + b,
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 for b1.







  (2 points)


14.
[image: image2.png]M=
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 for z.









   (1 point)

For questions 15-16, identify the letter of the choice that best completes the statement or answers the question.
      

           
 15.
Which number is a solution of the inequality:

x(7 – x) > 8


(½ point)

	A.
	-1
	B.
	8
	C.
	2
	D.
	0




16.
Identify the graph of the inequality from the given description:
x is negative.

(½ point)
	A.
	[image: image3.emf]0 1 2 3 4 5 0 –1 –2 –3 –4 –5


	C.
	[image: image4.emf]0 1 2 3 4 5 0 –1 –2 –3 –4 –5



	B.
	[image: image5.emf]0 1 2 3 4 5 0 –1 –2 –3 –4 –5


	D.
	[image: image6.emf]0 1 2 3 4 5 0 –1 –2 –3 –4 –5




            17.
Write an inequality for the graph:
[image: image7.png]



(½  point)
    Solve the inequalities in questions 18-21, and then graph your solution.


18.
12x – 3x + 11 ≥ 4x – (17 – 9x)







(2 points)


19.
[image: image8.png]








   


(2 points)


20.
[image: image9.png]-8<2x -4 <4












(2 points)

21.
[image: image10.png]Bx—
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(3 points)


22.
Your test scores in science are 83 and 87.  What possible scores can you earn on your next test to have a test average between 85 and 90?    






(3 points)


23.
The width of a rectangle is 33 centimeters. The perimeter is at least 776 centimeters.  Write and solve an inequality to find the length of the rectangle.





(2 points)


24.
The student council wants to rent a ballroom for the junior prom.  The ballroom’s rental rate is $1500 for 3h and $125 for each additional half hour.  Suppose the student council raises $2125.  What is the maximum number of hours for which they can rent the ballroom?


(3 points)

ANSWERS
1. 144

2. -72z + 63

3. 8

4. -6x – 6y 

5. 5

6. -7

7. 3 OR -⅓

8. 5 OR 11

9. 4 OR -18


         5

10. 2

11. No solution

12. 14

13. b1 = 2A – b2
                   h
14. z = xy
                w
15. C

16. D

17. x ≥ -½ 

18. x ≤ 7; GRAPH

19. x < 27; GRAPH


                10
20. -2 ≤ x ≤ 4; GRAPH

21. x ≤ -10 OR x ≥ 2; GRAPH

22. 85 < x < 100

23. l ≥ 355

24. 7

